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Instructions for the candidates :-
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Candidates must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

oRleef} AARIIG 37U TRT H B IR G |

Candidates are required to give their answers in their own words
as far as practicable.

TR ol TR W RY gy sie e Ffde e §

Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
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This question booklet is divided into two sections : Section-A and
Section-B.

Gus—3 H 70 q&IfTe U B, RFH ¥ fbgl 35 vl &1 IR oA
AR 21 35 Ul W 3AH BT IR T W UAH 35 B & HATDA
BT Udd & fay 1 o FMeiRd €1 $99al SR < & forg Sucre
PRI MY OMR SR 95® ¥ AU M0 &l fddhed &l -l / @lal dfd

U9 9 We B | Al ff UR & gReR / TRd ey / < [/
ARG 3 &1 OMR TR UG H WANT HIAT AT B, 3T URUMH
=T BT |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue /
black ball pen against the correct option on the OMR Answer
Sheet provided to you. Do not use Whitener / liquid / blade / nail
etc on OMR Answer Sheet, otherwise the result will be treated
invalid.

Yus—g H 20 Y ITNIY U ©, U & foy 2 3 FEiRa 5, o |
=1 10 URAl T IR <1 AR & | $9d SATRE 59 TUs H 6 a1
SR ge Ay MU 2, ude U & fo 5 3 MeiRa €, o |
=l 3 geAl &I ITR <1 S 7 |




In Section-B, there are 20 Short answer type questions, each
carries 2 marks, out of which any 10 questions are to be
answered. Apart from this, there are 6 long answer type
questions, each carrying 5 marks, out of which any 3 questions are

to be answered.

8. P TR & Saci=d SUSIYT & JIANT goiaar afsid g |

Use of any type of electronic appliance are strictly prohibited.

Yus—3H / Section-A

axdf~ss 939 / Objective Type Questions

T GIT 1 H 70 b & ISP U & fold IR fAdey QU v € 599 9 usp Wl

g1 0 ERT g T WEl fddwey &1 OMR-IR gRaer R fafted o | s 35
g9l & SR o ® | (35x1=35)

Question No.- 1 to 70 have four options, out of which only one is correct,
You have to mark, your selected option on the OMR-Answer Sheet. Only 35

questions are to be answered. (35x1=35)

1. H9 & IMHRIHAD USTL ©
(A) 318 (B) Wiz
(C) == (D) &% & BIg el
Topographical aspect of mind is :

(A) Ego (B) Super ego



(C) Conscious (D) None of these
TR e & Rigra @1 wfiures e far 2

(A) Dt (B) wras

(C)gm (D) 3meraie

Who propounded the theory of Psycho-sexual development ?

(A) Cattell (B) Freud

(C) Jung (D) Allport

9% @ B—oR® Rigra & ufioes a9 & ?

(A) TraRA (B) eIoIR™

(C) orved (D) ¥ & B¢

The propounder of Two-factor theory of intelligence is :
(A) Spearman (B) Lazarus

(C) Thurstone (D) None of these

AR Jad gig URIETT § —

(A) fe—arssa gig ulieqor (B) 9¥eR gfg udleror
(C) dea gfe Ter (D) 7 = wfl
Culture free intelligence test is -

(A) Binet-Simon intelligence test

(B) Wchsler Intelligence Scale

(C) Cattell Intelligence test

(D) All of these



TG B = AT Ffed § 9 P 7 2

(A) JIURDT & Fey (B) a=Traqul gey

(C) 1 <414 (D) 379 | o1

Which of the following is a source of Stress ?

(A) Conflict of motives (B) Stressful events

(C) Work pressure (D) All of these

“pIg Al AI—URRT AR el 8 — efeiRad | | fhaer fdar § ?
(A) BIeTHT (B) wrrs

(C) BRTR (D) U

“No body is cent-percent normal” — which of the following is the idea of:
(A) Coleman (B) Freud

(C) Festinger (D) Page

fg—gdra fdeR & a1 ¢ga 3 -

(A) IR cam e (B) S=reT qerm fawrd)

(C) ATHT=T LT 3ATHY (D) 31 ¥ B =l

Two poles of Bi-polar disorder are :

(A) Obsessive-Compulsive (B) Manic-depressive

(C) Normal-Abnormal (D) None of these

g9 W P ACh oI ol B P
(A) DB (B) PIb
(C) B (D) b



Which one is not a substance ?

(A) Coffee (B) Cocaine
(C) Opium (D) Smack
FGfART Ug &1 YART a9 gl fhee faar ?

(A) faferam aer (B) wrs

(B) fafera <r=q (D) 5. w4, BT
Who used first the term ‘Neurosis’ ?

(A) William Cullen (B) Freud

(C) William James (D) G. S. Hall

HSMIHD — FdeRIHG SURTH TR 3[R g

(A) faaR TUT FIER (B) a8

(C) wream (D) &7 & BIg el
Cognative-Bahavioural approach is based on :

(A) Thoughts and behaviour (B) Behaviour

(C) Mood state (D) None of these
ucwifer & AR AT A & e E

(A) 4 (B)6

(C)8 (D)9

The famous yoga sutra of Patanjali consists paths of yoga :
(A) 4 (B)6

(C)8 (D)9



12.

13.

14.

15.

A @ Rigr=T &1 9ANT 8Idl 8 —

(A) ZaeR fafeer o (B) weIfaeeryor fafsear #
(C) (A) T (B) <11 (D) &7 & ®Ig &
Principles of learining are used in -

(A) In behavior therapy (B) In Psychoanalytic therapy

(C) In (A) and (B) both (D) None of these

qaig Udh UHKR &

(A) rgf (B) s

(C) arT (D) 37 & PIg e
Prejudice is a type of :

(A) Attitude (B) Motive

(C) Emotion (D) None of these

o o C

AT aRedd & fgwa QU= & fea uwa fhar 2 ?

(A) hesi—grger (B) fordq wRER
(C) FTet ey (D) 7. TH. HElE

Who has presented two step concept of attitude change ?

(A) Fritz Heider (B) Leon Festinger
(C) Carl Smith (D) S. M. Mohsin
HeTfdeIeld b IaTeRT o

(A) FEITARS g (B) sliu=Re &g
(C) smafeae wE (D) T4 | @Iz el

College is an example of :



16.

17.

18.

19.

(A) Informal group (B) Formal group
(C) Accidental group (D) None of these
AHINTS T8 @ falRad fd geR H Haitee Ydhdr 8l & 2

(A) 3id: T8 (B) 187 e

(C) wferefrer wge (D) 375 & ®Ig Tl
Which of the following type of social group enjoys more unity ?
(A) Ingroup (B) Outgroup

(C) Mobile group (D) None of these
JIRRISERI UTefcreh 31UaT e w1 STl & —

(A) 2 (B) 5 R

(C) 13 R (D) 5 Fa+R
International Natural Disaster Day is celebrated on -
(A) 2 June (B) 5 September
(C) 13 October (D) 5 November

YE il T Ul Td. A9 & -

(A) 6 (B) 5

(C)7 (D) 374 & @13 el
P. H. Value of pure water is :

(A) 6 (B) 5

(C)7 (D) None of these

RUST-3MMhHOT RIgr &1 yfcure+ foba fdbar ?



(A) SIeTTe Ud 31 (B) svx1

(C) Forers (D) T & B &

Who propounded Frustration — Aggression theory ?

(A) Dollard et al (B) Bandura

(C) Zillman (D) None of these
20. T8l eed1 UNIE BT fbhar faeiia far ?

(A) e (B) Jro

(C) e (D) 3% & BIg el

Who developed Ink Blot Test ?
(A) Rorschach (B) Rogers

(C) Sheldon (D) None of these

21,  HAFD AR GRS § HIGT B Bl GT fba+l 8l § 2
(A) a1 (B) v
(C) <= (D) =R
How many blank cards are there in Thematic Apperception test ?
(A) Two (B) One
(C) Three (D) Four
22. TIRY—"T UG CISU—F Afdeicd b1 ufcrared fode faar ?
(A) e (B) TS
(C) fami (D) &7 & BIg el

Who propounded Type — ‘A’ and Type — ‘B of personality ?



(A) Freidman (B) Freud
(C) Binet (D) None of these
23,  HPTHG gfg US & uRed fHadh gRT dmEm 1 ?
(A) g T2T g (B) Tefd dam R
(C) Mmeri= (D) o T
Who introduced the term Emotional intelligence ?
(A) Wood and Wood (B) Salovey and Mayer
(C) Goleman (D) James Bard
24, TABIS—IST Thel BT Yo HelNed 99 § —

(A) 1916 (B) 1960

(C) 1922 (D) 31 ¥ B =l
First revision year of Stanford-Binet scale is -

(A) 1916 (B) 1960

(C) 1922 (D) None fo these

25. S0 U0 THO B b 3feRerm H fdd IR B Sl © 7
(A) =t (B) WfRRIer
(C) uRRsrifa (D) 519 ¥ I3 el
In which stage of G.A.S. person fellill ?
(A) Alarm (B) Resistance
(C) Exhausion (D) None of these

26. fr=rfeiRad % & @i HAIfdgT & 2
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27.

28.

29.

(A) ¥ (B) FIfaeTerdr

(C) anfad fagfa (D) 37 & P13 el
Which one of the following is Psychotic disorder ?
(A) Phobia (B) Schizoprenia
(C) Personality disorder (D) None of these

T AT ST 8

(A) T THIE (B) vs faudz

(C) va fayw (D) 379 & @15 el
Dream is said to be :

(A) A delusion (B) An illusion

(C) A hallucination (D) None of these
IR AT ATASIe Il | S | w9 & Hed ¢
(A) UshThIfeaT (B) FATSILIHIfaT
(C) TR (D) RETIE
Irrational fear from market or public place is called :
(A) Acrophobia (B) Claustrophobia
(C) Agoraphobia (D) Arachnophobia

RIHIE & dd & —

(A) TRTHIETAT (B) WRHIH & I
(C) wRTEft (D) SWRIad |4

Elements of Counselling is -

(A) Counsellor (B) Objectives of Cunselling

11



30.

31.

32.

33.

(C) Counselee (D) All of these
TRAT F-NE TSifer BT A1 THg © -

(A) TR | (B) Rl ¥
(C) w1 fazermor & (D) I
Name of Indian genius Patanjali is related to :

(A) Psychotherapy (B) Counselling

(C) Dream analysis (D) Yoga

ReTee fRifbear o1 ufaured fbar :

(A) BsRa AIfTor (B) wret Jored

(C) 371 At (D) 4 ¥ &g el
Gestalt therapy is Propounded by :

(A) Frederic Perls (B) Carl Rogers
(C) Egas Monitz (D) None of these
HSP, A AT I&TERVN & —

(A) BT garfaxor (B) rasfires wafaRer
(C) (A) 3R (B) < (D) $ = pIg ALl
Road, Dam are the examples of -

(A) Constructive environment  (B) Natural environment
(C) (A) and (B) both (D) None of these
5 S ®I ifhd | | i faad 79 S & ?

(A) fawa HeRar feaw (B) faza ved faad

12



34.

35.

36.

(C) fawa yafarvr feaw (D) fazg #Argea faad

Which of the following day is celebrated on 5" June ?

(A) World Literacy day (B) World AIDS day
(C) World Enviroment day (D) World Mother’s day
=1 § & & AFa AT suer 7 2

(A) 3= (B) FETR

(C) g (D) 377 ¢ 1 7TEl
Which of the following is man made disaster ?

(A) War (B) Epidemic

(C) Tsunami (D) None of these

FAgfa et @1 waifad aReare RS § —

(A) IRAR 3R Fhel ATATARY] (B) HaH w8

(C) AfHTd 31+ (D) S99 & I
The factor that influence attitude formation is :-
(A) Family and School environment

(B) Reference group

(C) Personal experience

(D) All of these

HART B FTHR ATHINTDS 91T BT DI U YBR ol © 7
(A) srguTers (B) 3fr=imaret
(C) Tga (D) rgaerTefierar

According to Kelman which is not a type of Social effect ?

13



(A) Compliance (B) Obedience
(C) Indentification (D) Internalization
37. ACHINGI, URTREBAT TAT 98 R Yfferdr 8
(A) SrTudT (B) srgarerd
(C) sirsmater (D) s & @I 7Tl
Ingratiation, reciprocity and multiple request are techniques of :
(A) Conformity (B) World Health organization
(C) Obedience (D) None of these
38. g AT & ey g —
(A) GG DI 3MMHR (B) @Hg &I uHTailerdr
(C) Wi g &1 @&y (D) s7¢ & I
Structure of group means -
(A) Size of group (B) Effectiveness of group

(C) Goal of group (D) All of these

39. HYR D AR (B UHR T Afdkdcd Agales UHR g ?
(A) WD THR (B) I UDHR
(C) g<obrd YbR (D) fasraa yaR
According to Kretschmer which type of personality is Cycloid type ?
(A) Pyknic type (B) Asthetic type
(C) Athletic type (D) Dysplastic type
40. fa=faRed # & @19 ufoRen wHR=AT & ?

14



41.

42.

43.

(A) & (B) 3
(C) gergur (D) 379 | o1
Which one of the following is defence mechanism ?
(A) Reprerssion (B) Suppression
(C) Projection (D) All of these
e T b ey @) A gy 27 ?

(A) afdbem (B) fa=t

(C) Tredi iR (D) 378 | BIg 2
Who said, “Intelligence is the ability to learn” ?

(A) Buckingham (B) Binet

(C) Charles Spearman (D) None of these

RS AR & WU &1 gfadre fhas fdar ?
(A) fa (B) ¥
(B) TSR (D) 57 | 31 7l

Who has propounded the concept of Mental age ?

(A) Binet (B) Stern
(C) Gardner (D) None of these
T uftR afaeed ¥ B RRrvar T8 o o &
(A) FfcragaT (B) gfeereT

(C) grifa (D) frizroT

Which characteristics is not found in stress resistant personality ?

15



44.

45.

46.

(A) Commitment

(C) Challenge

(B) Anxiety

(D) Control

fha gduem WieR fear f& g=
PRI & Fgayul BRoT g ?
(A) ST TR

(C) g

UG Idddfdde gl d 97 AR

(B) feuisew
(D) e

Who accepted first that conflict and interpersonal relationship are

important causes of mental disorders ?

(A) John Weyer
(C) Socrates
T § P g fRier ¥ ?

(A) el faepfa
(C) Sare faura faspfa
Which one is Anxiety Disorder ?

(A) Delusional disorder

(C) Manic Depressive disorder

§TH 9 DI WErHG [Jaf g 2

(A) Rer =8
(C) ScaTe—faure AAIfawiT

(B) Hippocrates

(D) Galen

ON O\

(B) #rURd qregar faapf

(D) 379 & Bl el

(B) Obsessive compulsive disorder

(D) None of these

(B) wIfaapfar fawre ImT
(D) ycrafeid faurd It

Which one is an affective disorder ?

(A) Paranoia

(C) Manic depressive Psychosis

16

(B) Psychotic depressive disorder

(D) Involutional Melancholia



47.

48.

49.

50.

FATIC—hi~ad fAfhear &1 T 4 2
(A) sfRma fefder (B) feRRra fafeen
(C) T faferean (D) IReTee fafred

Another name of Client-Central therapy :

(A) Non-directive therapy (B) Directive therapy
(C) Logo therapy (D) Gestalt therarpy
ST 9§ DI FAMdeey e & Jwifea 781 § ?

(A) wreT fagemor (B) 7o wrewd

(C) ArsfetT (D) RRATATRYT T 37a=el

Which one is not related with Psychoanalytic method ?

(A) Dream analysis (B) Free association

(C) Modelling (D) Stage of transference
Rer—agmie o qr= faevart € —

(A) et S (B) =M

(C) for=e (D) fanrs

The main characteristics of Paranoia is -

(A) Negativism (B) Delusion

(C) Anxiety (D) Hallucination
HIeEd ®I faewar | &9 e 78 fear o1 waar 2 2
(A) TFrsraT (B) qargrera

(C) =T Arar (D) shAggdT

17



51.

52.

53.

Which feature can not be included in noise ?

(A) Intensity (B) Predictability
(C) Controllability (D) Systematization
AT A Y B g o ?

(A) 1982 (B) 1984

(C) 1986 (D) 1988

Bhopal Gas tragedy was occurred in -

(A) 1982 (B) 1984

(C) 1986 (D) 1988

ATETHR BT e & —

(A) JIMF—AFH & FUD H FoAT YT HRAT

(B) uR&GeUTRI BT #iId

(C) T[0T i Dl YTl HRAT

(D) 7 & |

Aim of interview is -

(A) To secure information through face to face contact
(B) Sources of hypothesis

(C) To gather qualitative facts

(D) All of these

fFferRad & 9 ®IF WRERIeAr &1 0T & ?
(A) T BT AT (B) wRrgfa

18



54.

55.

56.

(C) srerfaay (D) g7+ & T
Which of the following is a quality of a counselor ?
(A) Ability to listen (B) Empathy

(C) Understanding (D) All of these

& JHTA] A S 999 & o0 fha dRg & PIerall a1 SToxd sidl & ?
(A) T DIl (B) VerorreHes rarel

(C) faRre et (D) 37 & Wl

Which type of skill required to become an effective psychologist ?
(A) General Skills (B) Observational Skill

(C) Specific Skill (D) All of these

SiGYRRAT U &1 qaueM yanT fea far ?

(A) dferer foraia (B) o SR

(C) aiferar (D) TS

Who used the term Stereotype first time ?

(A) Walter Lippman (B) James Dever
(C) Ogburn (D) Goodman

AHINTG §g @ MHd 8F @ oy 9ea9 e od o ¢
(A) T faars (B) WA &

(C) |91 r9T (D) @9 @&

Most necessary condition for social group formation is :

(A) Similar belief (B) Similar religion

19



57.

58.

59.

60.

(C) Similar language (D) Similar goal

Iegad IS T © —
(A) o1 (B) uRaR
(C) S (D) sirenfires w e

Highly organized group is -

(A) Country (B) Family

(C) Army (D) Industrial Organisation

BRIS & AR, Afddd & AT & JlfeTd 3HIS ©

(A) e (B) frerer

(C) fercugfer (D) Prgar

According to Freud, the fundamental unit of structure of personality is :
(A) Instinct (B) Trait

(C) Temperament (D) Libido

sreR—foraet @1 aref 7 -
(A) 3TH A (B) g% forferst
(C) 711 AERIT= (D) 3req fei=i®

Ego-Libido means :

(A) Self love (B) Object libido
(C) Ego complex (D) Ego syntonic
Ifs afr &1 97 2

(A)%x 100 (B)’Z;j'xmo

20



61.

62.

63.

100

(C) M.A. x C.A. x 100 (D) i X C.A.

Formula of 1.Q. is :

(A)%x 100 (B)%x 100
(C) M.A. x C.A. X 100 (D)= x CA.

frferRaa § | B9 AoiTe fa=aa &1 araxem 78 8 ?

(A) SHaT (B) weama=

(C) Tt (D) amer

Which one of the following is not the stage of creative thinking ?
(A) Incubation (B) Verification

(C) Preparation (D) Retention

fFrafeiRad o 9 @19 faRkre qrae T8l 8 ?

(A) gfcrreret dTeid (B) AHRI® el aTcidh

(O REEEINCISED (D) 9= qTeTdh

Which one among the following is not special children ?

(A) Gifted children (B) Metally retarded children
(C) Handicapped children (D) Normal children

Rl & ATg | Sih B 4G A BIerel bl AT § 2

(A) wETgf (B) \rTfcY

(C) s srgema (D) WeroT Prere

21



64.

65.

66.

Feeling of butting oneself in other shoes-shows which of the following

skill ?
(A) Sympathy (B) Empathy
(C) Self-discipline (D) Observational skill

faafed fidqq, fayq don =i qr=g <eror © -

(A) FTfareTfera o (B) ReRar ar

(C) BRIIRRY T (D) 37 & g &I

Disorganized thinking, hallucianation and delusion are the key

symptoms of :

(A) Schizophrenia (B) Hysteria

(C) Somatoform (D) None of these

qrer B ¥ol qAT A BT T § -

(A) 9IRS Fey (B) afFe Sitat @1 AT il
(C) A AR (D) wereifires faer

Slip of tongue and forgetting of names are :
(A) Mental conflict

(B) Psychopathology of everyday life

(C) Mental mechanism

(D) Psychosexual development

3T 99T & T © ¢

(A) NO, 3R SO, (B) CO,3iR CO

22



67.

68.

69.

(C) NO, 3R NO; (D) CO, 3R NO,
The elements of Acid Rain is :

(A) NOz and SO, (B) COzand CO
(C) NO; and NO; (D) CO; and NO,

T ¥ B W T I YT B9 I T8 7 7

(A) CH, (B) CO,
(C)N; (D) 75 & ®Ig Tl
Which one of the following is not a Greenhouse Gas ?
(A) CH, (B) CO;

(C) Ny (D) None of these

AFRYD faafc & afieror & Td=aq ugfd @ :

(A) SI. . TH. IV (B) SI. ¥1. vH. €I 3R,
(C) ¥ wd. vA. V-TR (D) sTH & PIg =l
The latest classification system of mental disorder is :

(A) DSM IV (B) DCM-V TR

(C) DSM-V-TR (D) None of these

el g &1 IR a9 ¢

(A) el & I fafdear (B) 9l @ 1 \HG]

ey

(C) Wewil & ¥ Irdf+Ral (D) i @ dIg WIS e

The essence of a group is :

(A) Differentiation between members

23



70.

(B) Equality among members

(C) Interdependence between members

(D) Emotional relationship between members
T e @ sraxemt € -

(A) IR (B) ®:
(C)Tw (D) U=

The stages of Psycho-sexual development are :
(A)4 (B) 6

(C)10 (D)5

¥uvs—9 / Section-B

o 3TN 9349 (Short Answer Type Questions)

U AT 1 W 20 ofg SIRIY U €| fbgl 10 U & SR § | Uhb U B forg
2 3 MUiRT 2| U¥® SR & oy wreg T 30—40 3162 T | (10x2=20)

Question no. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. Word limit of each answer is 30 to 40 words.

(10x2=20)
SIHETHAT | MY FI7 |ASTT & ? 2
What do you mean by aptitude ?
GO d gfg a1 8 ? 2
What is Creative intelligence ?
$SH @ 7 faRwang & ? 2
What are the characteristics of Id ?
SfIeIor | 319 7 |HSI © 2 2

What do you mean by trait ?

24



10.

11.

12.

13.

14.

15.

16.

17.

18.

TRy B gR9TT § |
Define health.

T YA T 7 7

What is hypochondriasis ?
afifesH a1 8 ?

What is Autism ?

AtefeiT aar 7 ?

What is modelling ?
AfecHT |7 7§ ?

What is meditation ?
ST/ BT ARATYT Y |
Define Conformity.
JTaTR® FHE P URFINT B |
Define formal group.
AT T 7 ?

What is obedience ?
e @1 aR9TYa o |
Define poverty.
FHUST—IMHATT T B ?
What is frustration-agression ?
ITaROT T 7 ?

What is environment ?

RTHE PIRTA & q&=F dedl & A (ol |

Name the main elements of Counsellign skills.

TN T gRaryT < |

Define interview.

Yloed b Afddcd—UhN DT ford |

Write Sheldon’s type fo personality.

25



19. fiar gfdeR @« 8 2

What is anxiety disorder ?
20.  Gd ATy R®7 R ? 2

What is free association ?

4" Sa9F 939 (Long Answer Type Questions)

T AT 21 9 26 <Y ST YT 2| fhsl 3 U & SR S | UAd & U 5
3 MuiRa €| U® & foTv eres—AHT1 80 9 100 ¥ B | (3x5=15)

Question no. 21 to 26 are Long Answer Type Questions. Answer any 3

questions. Each carries 5 marks. Word limit of each answer is 80 to 100

words. (3x5=15)

21.  UfOTRITCT dretepl @1 faRIvdral &1 qui & | 5
Describe the characteristics of Gifted Children.

22. g PAER WR UGNl & YAl BT av &N | 5
Describe the effects of pollution on human behaviour.

23.  HAME AANIGIT & 0N BT qoi o | 5
Describe the symptoms of mood disorder.

24, AN AT g ? ART & 3G AN BT I o | 5
What is yoga ? Describe eight fold path of yoga.

25.  HAGRT URTTT H BIEER & Aol NG Bl ARAT BN | 5

Explain Heider’s Balance theory of attitude change.

26. AT B R BRA D U G | 5

Suggest the measures for the removal of poverty.
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